- Ba T BRI B ERRTH Ehigiser B (H A A & O EA)
SRTHE6H 1 A BIE SFTHETH 1B BTE L HE IR
Hh X 4 <, 58 I G 58 bR B 158 L B L 24
w—TH 338 345 683 282 338 347 685 284 0 2 2 2
EIL=TH 302 326 628 243 302 324 626 243 0 A 2 A\ 2 0
EIL=TH 486 529 1,015 413 484 532 1,016 413 YAND 3 1 0
=LY H 215 247 462 180 213 247 460 180 YANY 0 YANY 0
EILILTH 143 137 280 146 142 137 279 146 A1 0 A1 0
iﬁlﬂé}%ﬁ‘ 1,484 1,584 3,068] 1,264} 1,479 1,587 3,066 1,266 YANRS! 3 YANY 2
WHRAE—TH 111 123 234 94 113 124 237 95 2 1 3 1
WHRE-TH 207 230 437 173 206 230 436 173 VAR | 0 VAR | 0
WRE=TH 287 342 629 249 286 342 628 249 A1 0 A1 0
WRAEMTH 139 142 281 122 139 141 280 122 0 A1 yANR | 0
WRELTH 244 254 498 197 244 253 497 197 0 A1 A1 0
WRENRNTH 282 271 553 224 281 268 H49 224 yANR | VANRS! YANE.! 0
WREARE 11,2701 1,362 2,632 1,059} 1,269 1,358 2,627 1,060 A1 A 4 YANRS) 1
WREH—TH 453 445 898 356 454 449 903 359 1 4 5 3
WRAER - TH 538 H3hH| 1,073 358 538 533 1,071 359 0 A\ 2 YANY 1
W RARAE 991 980 1,971 714 992 982 1,974 718 1 2 3 4




ZIL - REeT BRI DOMEETIH xR (EARADRH)
SRTHE6H 1 A BIE SFTHETH 1B BTE L HE IR
Hh X 4 <, 58 I G 58 bR B 158 L B L 24
w—TH 337 340 677 278 337 341 678 279 0 1 1 1
EIL=TH 300 322 622 241 300 320 620 241 0 A 2 A\ 2 0
EIL=TH 484 5171 1,001 406 482 Hh21 1,003 407 YAND 4 2 1
=LY H 214 244 458 178 212 244 456 178 YANY 0 YANY 0
EILILTH 113 133 246 116 112 133 245 116 A1 0 A1 0
iﬁlﬂé}%ﬁ‘ 1,448 1,556 3,004 1,219} 1,443 1,559 3,002 1,221 YANRS! 3 YANY 2
WHRAE—TH 111 121 232 94 113 122 235 95 2 1 3 1
WHRE-TH 207 230 437 173 206 230 436 173 VAR | 0 VAR | 0
WRE=TH 284 341 625 247 283 341 624 247 A1 0 A1 0
WRAEMTH 138 141 279 121 138 140 278 121 0 A1 yANR | 0
WRELTH 243 253 496 197 243 252 495 197 0 A1 A1 0
BWRERNTH 282 270 552 224 281 2067 H48 224 yANR | VANRS! YANE.! 0
WREARE 1,265 1,356 2,621 1,056} 1,264 1,352 2,616] 1,057 A1 A 4 YANRS) 1
WREH—TH 451 445 896 356 452 449 901 359 1 4 5 3
WRAER - TH 538 H31| 1,069 358 538 529 1,067 359 0 A\ 2 YANY 1
W RAMEATF 989 976 1,965 714 990 978 1,968 718 1 2 3 4




=% EE T BRI DR EHETH ki R ER HEA D)

STTH6H 1 HBIE SFTHETH 1B BTE L R A R
X 4 7 G Bl & G %l B z 50
wi—TH 1 5) 6 4 1 6 7 5) 0 1 1 1
EIL=TH 2 4 6 2 2 4 6 2 0 0 0 0
=ILU=TH 2 12 14 7 2 11 13 6 0 1 1 1
=LE T H 1 4 2 1 3 4 2 0 0 0 0
=N T H 30 4 34 30 30 4 34 30 0 0 0 0
=LA E 36 28 64 45 36 28 64 45 0 0 0 0
WHE—TH 0 2 2 0 0 2 2 0 0 0 0 0
WHRAETH 0 0 0 0 0 0 0 0 0 0 0 0
WREZTH 3 1 4 2 3 1 4 2 0 0 0 0
BRAEMNTH 1 1 2 1 1 1 2 1 0 0 0 0
WRELTH 1 1 2 0 1 1 2 0 0 0 0 0
WRAENTH 0 1 1 0 0 1 1 0 0 0 0 0
WREAER 5) 6 11 3 5 6 11 3 0 0 0 0
WRAH—TH 2 0 2 0 2 0 2 0 0 0 0 0
WRAM TH 0 4 4 0 0 4 4 0 0 0 0 0
WRAEMER 2 4 6 0 2 4 6 0 0 0 0 0




